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1
Given: y=7x-3

y=x"+8+12
In which quadrant will the graphs of the given
equations intersect?
o1
)
3 m
H W




image5.png
‘When the system of equations y +2 = (x—4)” and
24y~ 6= 0is solved graphically, the solution is
1) (4.-2)and (-2.2)

2) (@-2)and (22)

3) (4.2)and (-6.6)

4) (4.2)and (6.6)
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‘When the system of equations y +2¢ =x* and
=x is graphed on a set of axes, what i the total
‘number of points of intersection?
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On the set of axes below, solve the following
system of equations graphically and state the
coordinates of all points in the solution set.

y=x"+4x-5
y=x-1
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On the set of axes below, solve the system of

equations graphically and state the coordinates of
all points in the solution.

y=(r-2y -

2y+16=4x
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Two equations were graphed on the set of axes
below.

‘Which point is a solution of the system of
equations shown on the graph?
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‘The accompanying diagram shows the graphs of a
linear equation and a quadratic equation.
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‘How many solutions are there to this system of
equations?
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‘The graphs of the equations y =x” +4x - 1 and
»+3=x are drawn on the same set of axes. At
‘which point do the graphs intersect?
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